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COSMOS: Complete Online Solutions Manual Organization System

Chapter 7, Problem 53.

Determine the inductor current i(¢) for both ¢ < 0 and # > 0 for each of the circuits in Fig.
7.119.

25V

®)

Figure 7.119
For Prob. 7.53.

Fundamentals of Electric Circuits, 3/e, Charles Alexander, Matthew Sadiku
© 2007 The McGraw-Hill Companies.



COSMOS: Complete Online Solutions Manual Qreanization System

Chapter 7, Solution 53.

25
(a) Before t =0, 1:3—5:5A
Aftert=0, i(t)=i(0)e""
L 4 .
TZEZEIQ, 1(0)25

i() = 5¢ Y2 wA

(b) Before t = 0, the inductor acts as a short circuit so that the 2 Q and 4 O
resistors are short-circuited.

i(t)y=6 A
After t =0, we have an RL circuit.
i(t) =i(0)e " =2
B ’ "R 2

i) = 67243 wnA

Fundamentals of Electric Circuits, 3/e, Charles Alexander, Matthew Sadiku
© 2007 The McGraw-Hill Companies.



COSMOS: Complete Online Solutions Manual Organization System

Chapter 7, Problem 63.

Obtain v(¢) and i(?) in the circuit of Fig. 7.128.

10u(-H VvV

Figure 7.128
For Prob. 7.63.

Fundamentals of Electric Circuits, 3/e, Charles Alexander, Matthew Sadiku
© 2007 The McGraw-Hill Companies.



LCOSMOS: Complete Online Solutions Manual Organization System

Chapter 7, Solution 63.

10
Fort <0, u(-t)y=1, i(O)=?=2

Fort >0, u(-t)=0, i(0) =0
th:5”20:4Q, 1::—:-—'—:_
i(1) = 1(0) +] 1(0) — i(e0)] €V

i) =2e3" uwnA

di

4 1 "
v()=L— ( 2)(-8)(2)@

v(t) = -8eBtu(t) v

Fundamentals of Electric Circuits, 3/e, Charles Alexander, Matthew Sadiku
© 2007 The McGraw-Hill Companies.



